(D
(2)

16

12

11






1-1




(1)

H12 S55
H3 H12 H12
H  H10 S55  H12
S55  H12
H27
H13
100% 100% 100% 100%
100%
H2 H12 S55 H12
H8 H12
300L
x H12 S55 H12
H8 H12 HE6 H12
X H12
H12
H8 H12 S55 HI12
H8 H12 S55 HI2 H12
H8 H12 5 10 S55 HI2 10 10
3
H8 H12 S55 HI2 H12
93% 97% 89%
90%

2-1




@)

86.4

111 m¥ 6454 m°/ 9931 m%/ 859 m3/ 4437 m*/
154 m%/ 7339 m%/ 10622 m¥/ 914 m¥/ 4879 m*/
459.1L/ 392.8L/ 360.0L/ 397L/ 43431/

213 m¥/ 9451 m%/ 13265 m%/ 1240 m%/ 6249 m*/
0.34m*/s 11.79m*/s 17.13m*/s 15.43m*/s 7.67m*/s

2-2




H12

H12

20 2

S59 -10%

20 2

S62

S62

20

20

H9

H6
90%

90% H27

H27
H10 H12

H9

2-3




(1)

30 30
2
3 3 S55  H12
3 S59 H3 H12
H10
4
S55 H12 H12
30
5 H10 H13
H15 H14
H14 H9 H14
H9
H16
H15
H10 H13 H12
H12
x X X X 3 S55
H12
H10 13
H12
H10 H12 H10 H13 H12 H12
H12 1% H12

2-4




(2)

5 m¥/

1,208 m*/

1869 m¥/ (*)

324 m¥/

725 m¥/

1.83m*/s

13.26m*/s

1.21m%/s

8.10m%/s

™)

2-5




20

-10%

S59

20

2-6




m¥/s
10 ta—n—n—w]
8
6
A  oromoeon |
2
0.4 0.3 0.3 0.3 03
0 (o m) s EELSSELY = _ === H27
H12 H27 H27 H27 2/20 H27 H6
m¥/s
10
8
6
4
2
0 : ’
H12 H27 H27 H27 2/20 H27 H6
3
m/s ——
10
——
8
——
6
—
4 R
) oy
04 03 03 203 —
: s -~ R -~ A -~ T | H27
H12 H27 H27 H27 2/20 H27 H6
H27 2/20 20 2
H27 H6 He

3-1




m¥/s

————
10
—
8
j Poooe |
5 58
49 - 1L - S —
4
2 T
0 l—l=masw e e ] . H27
H12 H27 H27
m¥/s
10 L
8
—
6
4 ==
2
05
0.0 }------- el oo w7 H27
0
H12 H27 H27
m*/s —
T
10
—
8
—
6.3 R
6 49
4
e e
Locnans Locnans
2 % % P
o o
A A
0 Y Y Y Y Y A B B H27
H12 H27 H27 7 H
H27 2/20
H27 H6 H6

3-2




m¥/s

10 e
8
6 |
4
29
”1 24 7/ 24 22
2 A o P T !
| e b
0 Eaas Eans 2 .
H12 H27 H27 H27 2/20 H27 H6
m*/s
1
0 e
8
—
6
4
!
2 14
0.7 [ 0.8 05
00 I Y/ bragl----- vyl KRR Ha7
0 FFFF FFFF, L F
H12 H27 H27 H27 2/20 H27 H6
m*/s
—
10 Ennnl
—
8
—
6 FELS
—
4 31
21 —
2 [ R
[ = I H27
H12 H27
H27 2/20 20 2
H27 H6 H6

3-3




m3/s ra—anl
10
——
8
j Poooe |
=]
4
s 21
14 d g 12
2 i s \\i*-\’l-o f e
: = = =
H12 H27 H27 H27 2/20 H27 H6
m*/s
10 e
8 ——
6
==
4
e
17
2 ) 0.9
05 06 W : 05
T R S FTRL o REEEEE s I | R
0 W LT T TITTTTTTT
H12 H27 H27 H27 2/20 H27 H6
m*/s R R
10 —
——
8 NN
——
[ARRARRNNI
6 ——
38 —
* N\
19 LR o NI
2 @\\ ] ib
@ s = B
(NNNNNNN]
0 Fu"" = = =
H12 H27 H27 H27 2/20 H27 H6
H27 2/20 20 2
H27 H6 H6

3-4




m¥/s

ta—n—n—w]
10
—
8
—
6 | IEEEREEE]
—
4
f=—]
20 19
2 1.6 15 =
% [ [ | ===
O /= —  — ... H27
H12 H27 H27 H27 2/20 H27 H6
m/s
10
8
6
4
2
0 n n
H12 H27 H27 H27 2/20 H27 H6
3 —1
m°/s e
10 —
—
8
—
6 —
[RNRRRRRNI
—
4 —
20 19 ——
2 16 et 15 CRCRERE
0 ) — S
------ H27
H12 H27 H27 H27 2/20 H27 H6
2/20 20 2
H27 H6 H6

3-5




m°/s ]
30
—
25 230
Eresd e
20 \
1 154 \
15 0 T HEEEE— \
10
5
0
H12 H27 H27
m*/s
%0 S
25
20
15
10 v
5
0.7 0.7 0.7 0.5 03 ... L7
0 EEEE il Jir i I B I e =
H12 H27 H27 H27 2/20 H27 H6
m*/s ——
nannl
30
—
25 237
Wwww: : :! FEEE,
20 TTT
161 S 15 by
14.7 R R e A ]& ............
15 s
] 114 ——
\ e
bR R
5 %»
o """ —+—— ... H27
H12 H27 H27 H27 2/20 H27 H6
2/20 20 2
H27 H6 H6
H27

3-6




m¥/s
50
[
40 e
Ermamana)
%0 251 =
o
20 16.9 I I I I 16.9 T
T — — — — . K
Y H--H 97
gress] | e
10 N EEEES i
LLLLLLLL I NN
et tal At et tal
0 —
H12 H27 H27 H27 2/20 H27 H6
------ H27
m¥/s L
50
—
40
30 S
20 18.0
95 10.9 N
10 7.7 — & ________ b 654
Il
0 TTTITIT T . ... .. H27
H12 H27 H27 H27 2/20 H27 H6
[ ]
m¥/s
50
43.1 —
FFEF,
40 —
P—
—
30 26.4 e —
225 - e ATEETSL oo LA RN (|8
\ = —
20 161 R
e i [—
&& I
L =
[T ew—
0 A e A e A e
H12 H27 H27 H27 2/20 H27 H6  [oe.- H27
2/20 20 2
H27 H6 H6
1.756m*/s

3-7




N N N
I I I
] - o :
] - o :
. - - = !
(=] (=] (=]
T | T T
nu hat o -
< ©| \
N 0 N g & N
I v I v I
o o o
N N N
~ ~ ~
o HH o H o
o S| H o
© = | Y ol
N~ N~ N~
o o o
I I I
N !
M~ N N N
T T ] T
od © H
< © |
N~ N~ ~
o o o
I I I
~ © “
< © |
o~ o~ o~
- - -
I I I
) ) )
o >~ Q
E o Te) o Te) o Eo Te) o Te) o E o Te) o Te) o Te) o
(30] N N — — (30] N N — — (37] N N — —

20

2/20

H27

H6

H6

H27

3-8



m¥/s

10 ————
8
——
6
pe======21]
4
2
0.7 0.8
o = s 5w am e w7 H27
H12 H27
m¥/s
10
8
6
4
2
0 " _ i
H12 H27 H27 H27 2/20 H27 H6
m%/s
10 —
8 .
6 ——
b e e
4
——
Ry
2 7 13 T
I-:-:-:-:-"" P EEPLEE % --------- e R —
0 AT ZIiT oL .. o7
H12 H27 H27 H27 2/20 H27 H6
H27 2/20 0 2
H27 H6 H6

3-9




€Y
61 12

14

13

&)

13

12

21

61 12

14

34

27

€y

(@)

27

27

113

20

"




12
34 13

@

16,000
16,000
39

&)

T.P. 0.80 1.30
43

€)




22,000

44
4)
166,000
46
®)
31,000
48
()

44,000
11

19

55,000
13

32.4

351,400

30.0

19

32.4

30.0

380,400




Q)

@

10,800

€y

)

56

2.86

T.P.

41.83

18

13

9.19

2.4

€Y

56

18

16

2.4

2




®

4)

®)

(©)

Q)

®

(4)

(6)




27

@
27

50

19

€)

20

27

113
77




@

78,000
380,400
46 19
@
32.4

30.0
2.4

56 18

16



@

)

€)

4)

®)

©)

Q)

(®)



€Y

m®/s
27
0.34 | 11.79| 32.56 7.67 52.37 0.00 1.83 | 14.47 8.10 24.40 76.77
0.00 0.00 0.19 2.03 2.22 0.00 0.00 4.31 1.28 5.59 7.81
0.34 | 11.79| 32.37 5.64 50.15 0.00 1.83 | 10.16 6.82 18.81 68.96
m®/s
27
(2/20) (H6)
- 1.20 3.30 - 4.50 - 1.40 0.70 - 2.10 6.60 4.24 2.44
- - - 0.67 0.67 - - - 0.19 0.19 0.86 0.65 0.34
- - 10.32 2.84 13.16 - - 2.93 6.41 9.34 22.50 16.95 6.89
- 0.80 1.10 - 1.90 - - 2.10 - 2.10 4.00 2.28 1.64
- 0.30 3.27 - 3.57 - - 0.73 - 0.73 4.30 3.61 1.76
- 1.77 | 19.16 1.00 21.93 - 4.33 6.30 7.00 17.63 39.56 17.41 7.91
- 1.30 2.59 - 3.89 - 0.50 5.91 - 6.41 10.31 7.21 5.46
- 0.02 - - 0.02 - - - - - 0.02 0.02 0.02
0.19 2.42 7.98 0.03 10.63 - - - 2.95 2.95 13.58 13.58 13.58
0.02 4.83 2.15 4.15 11.15 - 0.00 0.00 0.00 0.00 11.15 11.15 11.15
0.14 0.09 0.00 0.00 0.23 - 0.00 0.00 0.00 0.00 0.23 0.23 0.23
0.34| 12.74| 49.88 8.69 71.65 0.00 6.23 | 18.67 | 16.56 41.46 113.11 77.33 51.42

10
11
12
13

2/20

2/20
H6

20

2/20

2/20

5.46m°/s

1.756m°/s

59

62

62




(2)

m*/s
27
m®/s
27
- - 2.10 2.10
2.15 - - 2.15
2.15 - 2.10 4.25
0.61 4.10 - 4.71
2.76 4.10 2.10 8.96

5/1 10/3




